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BUSINESS STUDIES
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Answer the following questions :

ek epemee Oes T ¢

(a) What are the different types of business activities ?

(b) Business of Hindu Undivided Family (HUF) are controlled and managed . ‘ .

*

by one person known as

12 {2 AR T R e AR 59 e (aw ———

(c) Which organisation is formed by state and central legislation ?

S F (T ST A (@ AT Ze = T 2

(d) Name two different types of bank.

794 @FF AN S 4] |

(e) What does ‘€’ stand for in e-business ?

TR, T SE 5 5w 2
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(f) State the full-form of BPO.
‘BPO’ 7= SATH! o720 |
(g9 What is the status of debenture-holders ?

Hojolg YIS AT ﬁ’ﬂ% e

(h) A retailer is the link between ——— and
aew YAt Kol —— = A (o |

2. Explain the concept of Business.

(ARE {=ell <UIRGT <5K |

GFF FgIfEal IR 7o) R @teiEy o |

4. What is meant by multinational éorporation?

IRGE Afewm Wi & e

5. Define a cottage industry.

019 oo g W |
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Give two distinctive features of a sole-proprietorship business.
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13.

What is meant by promotion of a Company ?

I GO A JETCe (6 S 2

Discuss three factors responsible for environmental pollution.

AR 2@ [ofE) S99 SIETbl 4 |

Discuss the advantages of preference shares.
SIfEFIR S Rl IR AT |
What are the objectives of WTO ?

Rl 2ifetey w1eze S R e

State any three differences between E-business and traditional business.

BN G AN AR NG R forbl Al S 54 |

Discuss three limitations of E-business.

BR[O SERmeR Rt SItEAs 54 |

What is the role of profit in business ?

ARG Fed g 52

What is business ethics ? Mention the basic elements of business ethics.

AR ool e TWE GNfe Tomia Tz S 941 |
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16.

1578

18.

1142);

Explain the steps involved in formation of a Private Limited Company. 5
451 TFR1 MEre AN 107 TS Gies 27 g 9ot <5 |

Describe the role played by small business in the development of the

country. - (b 5]
PR CFENS T SwioE SR q6ql ] |
Explain the need for international business. S

mwmﬁﬂwﬁﬂma®W| -

Define a retailer. Discuss the functions performed by a retailer. S
YpRI ARAITR ices! Wl | Pt TRATE AP e S 4 |

Discuss the various facilities provided by a commercial bank to its

customers. =

?rrﬁﬁ%ﬂ% @ (OIS eSS Al Rfen JRka T Jaw Sicena <=1

Define Joint Venture. State the advantages and limitations of a joint

venture. 2+6=8

G TomeR wees Wl | TN R O SR g S 4 |
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What is meant by a Government Company ? Discuss its merits and ‘ What are the factors that need to be considered while starting a business ?
|
limitations. 2+6=8 2 * ' Explain. o 8
SIIINT A e {52 TAE (E-ed g el w49 | E e AT A e s o B S I 1 O B S s sy = i s )
20. What is ‘Memorandum of Association’? Explain its clauses. @ = 3+5=8

w%ﬁ%?w%ﬁamﬂ@@ﬁ%m
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Define ‘Articles of Association’. Write the differences between ‘Memorandum

of Association’ and ‘Articles of Association’.

AR SR e @ | RSk o SekEieE dee 45 sAidwEE @G

21. Discuss some of the sources of long term capital. 8

IR Gy Rerme g B 90 i |

Or / g2
What is share ? Discuss the differences between shares and debentures.

Wil WG B SIReAE S eief@d A1 TR SIesTnal 354 |

22. What is business risk ? Explain its causes. : 2+6=8

AR =< 2 2@ TR IR RN
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